X=BEESE F MHASHE

2025.3
RELEE=|FREHITE—FHE- (HBH) FEBRT oh—X
10:00~ TN . #%BF3 (MROBEITTUMER)
S5 E=(12:00~ G SURA Y (T—=ILIRRARNN—, aA—F—TF5VT DH)
XEZEHAER: D~DTHEBIER
SMTF—L
SINTEAM [RT42h—X  [IRS/%/3R
SINTEAM |F2GS FBIGEGE
SINTEAM (B2IBS55E—RH—)L (INEER) BBIESTE—RI— )L (FREER)
SINTEAM [BETSALR #h EREFEF
KO F—L &R &R F—L Y| L7)—
10:30 INEERAT — LBl
1030 |RBBEZTE—RY—IL ol )@ﬂmﬁ’j‘t“ A=)l
~11:30 (IVEE) A (IMEER) B
11:30 BERIESEs  (D1-2EE/4R, Q3-4F5E, B5-6F4
10:30 INEER AT — L BitA
1030 |RBBEZTE-RY—IL
~12:00 (FhEH) /) )
12:00 Gl Ol
1300  |[REGtEANBRE X
13:00 RBBER| (/)| (/)|EBER
13:20 BBBANR] (/)] ( / )|FBBATIVH—A
13:40 gagekl (/)] (/) |EBRER
14:00 ERIESR OERE (FRBRBER, FRBER)
14:00 BBEANR] (/)] (/) |RBBATH=R
14:20 BRSO EANRBBRTUN—R, FEIE IR
14:30 BRZFRH
14300  TFF—LA (/)] (/) TFF—LB
15000  &TFF—LB (/)] (/) TFF—LA
15:30 ErEst  |O%xFF—A




